—_

Der Dijkstra-Algorithmus

Klasse Algorithmus

1 (public class Algorithmus {
2
3 Knoten [] graph;
4
5 Knoten startknoten = null;
6 Knoten zielknoten = null;
7
8 public Algorithmus() {
9 this.initialisiere ();
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2 public void initialisiere () {
3 graph = new Knoten[19];
4 graph[1] = new Knoten("A", 0);
5 graph[15].fuegeKanteHinzu (new Kante(graph[14], 91));
6 graph [18].fuegeKanteHinzu (new Kante(graph[17], 23));
81}
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0 public void berechneWeg() {
1 Warteschlange ws = new Warteschlange ();
2
3 Knoten aktuellerKnoten = this.startknoten;
4
5 while (aktuellerKnoten != zielknoten) {
6 aktuellerKnoten . expandiereKnoten (ws);
7 aktuellerKnoten = ws. gibErstesElementZurueck ();
8 }
91 3
0
1 public static void main(String[] argv) {
2 Algorithmus algo = new Algorithmus ();
3 algo.startknoten = algo.graph[9];
4 algo.zielknoten = algo.graph[14];
5 algo .berechneWeg ();
6 algo.zielknoten .gibPfadAus ();
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Klasse Kante
g
1| public class Kante {
2
3 public Knoten zielknoten;
4 public int entfernung;
)
6 public Kante(Knoten knoten, int entfernung) {
7 this.zielknoten = knoten;
8 this.entfernung = entfernung;
91 )
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Klasse Knoten

public class Knoten {

public int entfernung = O0;

public Knoten nachfolger;

public String name;

public Knoten vorgaengerImPfad;

public Kante[] kanten = new Kante[10];
public int kantenanzahl = 0;

public boolean istMarkiert = false;

public Knoten(String name, int entfernung) {
this .name = name;
this.entfernung = entfernung;

public void fuegeKnotenEin (Knoten knoten) {
if (nachfolger = null) {

nachfolger = knoten;
} else {
if (knoten.entfernung < nachfolger.entfernung) {
knoten.nachfolger = nachfolger;
nachfolger = knoten;
} else {

nachfolger.fuegeKnotenEin (knoten );

}
}
t

public void entferneKnoten (Knoten knoten) {
if (nachfolger !'= null) {
if (nachfolger = knoten) {
nachfolger = knoten.nachfolger;
} else {
nachfolger.entferneKnoten (knoten );
}

}
}

public void fuegeKanteHinzu(Kante kt) {
this . kanten|[kantenanzahl]| = kt;
this . kantenanzahl = this.kantenanzahl + 1;

}

public void gibRestWarteschlangeAus() {
System.out.println ("Knoten: " + name);
if (nachfolger != null) {
nachfolger.gibRestWarteschlangeAus ();

}
}

public void gibPfadAus() {
if (this.vorgaengerImPfad != null) {
this.vorgaengerImPfad . gibPfadAus();

}

System.out.println ("Knoten: " + name);

}
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public void expandiereKnoten(Warteschlange ws) {
for (int i = 0; i < this.kantenanzahl; i++) {
Knoten nachbarknoten = kanten[i].zielknoten;
int kantenentfernung = kanten[i].entfernung;
if (!nachbarknoten.istMarkiert) {
if (nachbarknoten.entfernung =— 0) {
nachbarknoten.entfernung = kantenentfernung
+ this.entfernung;
nachbarknoten.vorgaengerImPfad = this;
ws.fuegeKnotenEin (nachbarknoten);
} else {
if (nachbarknoten.entfernung > kantenentfernung
+ this.entfernung) {
ws.entferneKnoten (nachbarknoten );
nachbarknoten.entfernung = kantenentfernung
+ this.entfernung;
nachbarknoten.vorgaengerlmPfad = this;
ws. fuegeKnotenEin (nachbarknoten );

}
}
}
}

this.istMarkiert = true;

Klasse Warteschlange

public class Warteschlange {
private Knoten kopf;

public Warteschlange () {
kopf = new Knoten("Kopf", —1);

}

public void fuegeKnotenEin (Knoten knoten) {
kopf.fuegeKnotenEin (knoten );

}

public void entferneKnoten (Knoten knoten) {
kopf.entferneKnoten (knoten );

}

public Knoten gibErstesElementZurueck () {
Knoten hilfsknoten = kopf.nachfolger;
kopf.entferneKnoten (kopf.nachfolger);
return hilfsknoten;

}

public void gibWarteschlangeAus () {
kopf.gibRestWarteschlangeAus ();

}
}




